1.6 Differentiation Techniques:
The Product and Quotient Rules (part 2)
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Product Rule Example

f(x) = (5x - 7)* = (57 )(5n -7)

Find f(x)
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Quotient Rule Example:
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Quotient Rule Example:
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W= X'+ 3x -8 \Y

Find f'(x)

1) = uv-uv

nd _C)\(,_XQ"'B?\“B\)— 4 (2*&*‘1\]

2
(5T +3,. -3
\’\ N A

()

I
o0
Pat

\
N




Average Cost per Unit and the rate that it changes

If the cost to produce Aunits is C(‘A)

then the average cost per unit is C(x)
X

Denote it A C

Similarly,
C(x) = cost Ac< 5% = avg. cost per unit

R&)= revenue Ag-= ®%vg. revenue per unit
P& =profit Ay - M) = avg. profit per unit

Also recall that P(x) = R(x\ - C (%)

Example: The cost of producing x chairs is
C(x) =100 + 10 &
The revenue for selling x chairs is
R(x) = 30x

Find the average cost per unit.
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Find the average profit per unit
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Find the rate for which the average profit is changing
when 36 chairs have been produced and sold.
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